

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progress Estimate Number 15	Contract ID Prime Contractor	191018-F03 Gerstner Electric, Inc.		Original Contract Amount Net Change Order Amount Current Contract Amount	\$148,240.05
Approval Date					By User

Approval Date		By User
August 17, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by	norton1
August 17, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	gibbon1
August 18, 2020	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
December 31, 2020	December 31, 2020		71.49%

No Milestones Exist for Contract

Contract Total Pa	ny For Estimate No. 15			
		This Estimate	Previous	To Date
191018-F03				
	Total Posted Items Pay	\$27,195.00	\$735,897.45	\$763,092.45
	Gross Item Adjustments	(\$1,068.75)	\$0.00	(\$1,068.75)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$735,897.45	\$762,023.70
Contract Total Pa	yable This Estimate:	\$26,126.25		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6Q3172E	0030	9103700	CCTV CAMERA ASSEMBLY, INSTALLED	EA	\$430.000	1	\$430.00
	0100	9109902	MISC.ADVANCED DIAGNOSTICS	EA	\$430.000	8	\$3,440.00
	0120	9109902	MISC.F&I FIBER OPTIC FUSION SPLICE, MULTI MODE	EA	\$30.000	2	\$60.00
	0410	9109902	MISC.INSTALL WIRELESS ETHERNET BRIDGE COMMUNICATION EQUIPMENT	EA	\$1,120.000	1	\$1,120.00
	0450	9109902	MISC.REMOVE CAMERA POLE	EA	\$775.000	1	\$775.00
	0460	9109902	MISC.REMOVE CCTV CAMERA & ASSEMBLY	EA	\$750.000	1	\$750.00
	0530	9109902	MISC.REMOVE NON-INTRUSIVE WIRELESS REPEATER	EA	\$120.000	1	\$120.00
	0540	9109902	MISC.REMOVE SOLAR POWER SYSTEM	EA	\$850.000	1	\$850.00
	0610	9109902	MISC.REMOVE WIRELESS COMMUNICATION EQUIPMENT	\$335.000	1	\$335.00	
	0650	9109902	MISC.TROUBLESHOOTING	EA	\$200.000	4	\$800.00
	0800	9109903	MISC.F&I TRACE WIRE	LF	\$1.750	1,100	\$1,925.00
	0820	9109902	MISC.PM CCTV CAMERA, ASSEMBLY, POLE, & FIELD CABINET	EA	\$420.000	24	\$10,080.00
	0830	9109902	MISC.PM COMMUNICATION LINK AND ASSEMBLY	EA	\$140.000	28	\$3,920.00
	0840	9109902	MISC.PM COMMUNICATION NODE FIELD CABINET	EA	\$520.000	3	\$1,560.00
	0890	9109902	MISC.PM SOLAR POWER SYSTEM	EA	\$210.000	3	\$630.00
	0900	9109902	MISC.PM UNINTERRUPTIBLE POWER SUPPLY (UPS) FOR NODE CABINETS	EA	\$200.000	2	\$400.00
Project J6Q	3172E - Tot	al					\$27,195.00
Overall - To	tal						\$27,195.00

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item Ad	<u>djustm</u>	ents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6Q3172E	0540	MISC.	Overrun			-1	\$850.00	(\$850.00)
	0800	MISC.	Overrun			-125	\$1.75	(\$218.75)

Revision 4/1/2020 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 17, 2020

Progres	Progress Estimate Number 15			191018 ctor Gerstne		Pay Period End August 15, 2020 N	Original Net Cha Current	mount \$14	19,136.73 48,240.05 ,067,376.78	
Project Number	, , ,		cription	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
Total										(\$1,068.75)

Revision 4/1/2020 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J6Q3172E	FAS S501(95)	ITS improvement	Various	VARIOUS	throughout the St. Lou	uis District	
Totals by Jo	ob Numbers	•					
J6Q3172E					This Estimate	Previous	To Date
					\$27,195.00	\$735,897.45	#762 000 AF
	Posted	Item Pay				φ1 33,031 . 4 3	\$763,092.45
		Item Pay tem Adjustmen	nts		(\$1,068.75)	\$0.00	\$763,092.45 (\$1,068.75)
		tem Adjustmen	its Gross Ite	m Pay			
		tem Adjustmen		m Pay	(\$1,068.75)	\$0.00 \$735,897.45	(\$1,068.75) \$762,023.70
	Gross I	tem Adjustmen		m Pay	(\$1,068.75) \$26,126.25 \$0.00	\$0.00 \$735,897.45 \$0.00	(\$1,068.75) \$762,023.70 \$0.00
	Incentive Disince	tem Adjustmen		m Pay	(\$1,068.75) \$26,126.25	\$0.00 \$735,897.45	(\$1,068.75) \$762,023.70

Revision 4/1/2020 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 191018-F03, Contract Project J6Q3172E, Project Item Line Number 0540, Contract Line Item Number 0540, Item 9109902, Minor Item.	Will need a change order to correct this issue.	norton1	Unresolved
Estimate Exception Type: Item Overrun: Contract 191018-F03, Contract Project J6Q3172E, Project Item Line Number 0800, Contract Line Item Number 0800, Item 9109903, Minor Item.	Will need a change order to correct this issue.	norton1	Unresolved

Revision 4/1/2020 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					eport Generated date and can differ from the posted am	ount at an			uo 00			
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-F03	J6Q3172E	0001	0010	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	-	\$20,000.00	\$15,000.00
		0001	0020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$34,985.73	\$26,239.30
		0050	0030	9103700	CCTV CAMERA ASSEMBLY, INSTALLED	50.00	0.00	50.00	EA	19.00	\$430.00	\$8,170.00
		0050	0040	9105200	CONDUIT, 2 IN., RIGID, IN TRENCH	250.00	0.00	250.00	LF	6.00	\$10.00	\$60.00
		0050	0050	9105201	CONDUIT, 3 IN., RIGID, IN TRENCH	100.00	0.00	100.00	LF	0.00	\$11.00	\$0.00
		0050	0060	9105202	CONDUIT, 4 IN., RIGID, IN TRENCH	100.00	0.00	100.00	LF	0.00	\$12.00	\$0.00
		0050	0070	9107201	CONDUIT, 3 IN., RIGID, PUSHED	50.00	0.00	50.00	LF	0.00	\$22.00	\$0.00
		0050	0080	9107202	CONDUIT, 4 IN., RIGID, PUSHED	50.00	0.00	50.00	LF	0.00	\$24.00	\$0.00
		0050	0090	9108352	FIBER OPTIC CABLE, 24-STRAND, 18 SINGLE MODE, 6 MULTIMODE	500.00	0.00	500.00	LF	160.00	\$3.00	\$480.00
		0050	0100	9109902	MISC.ADVANCED DIAGNOSTICS	75.00	208.00	283.00	EA	205.00	\$430.00	\$88,150.00
		0050	0110	9109902	MISC.F&I CAMERA POLE (60FT) AND LOWERING SYSTEM	1.00	0.00	1.00	EA	0.00	\$5,500.00	\$0.00
		0050	0120	9109902	MISC.F&I FIBER OPTIC FUSION SPLICE, MULTI MODE	50.00	0.00	50.00	EA	14.00	\$30.00	\$420.00
		0050	0130	9109902	MISC.F&I FIBER OPTIC FUSION SPLICE, SINGLE MODE	1,250.00	0.00	1,250.00	EA	882.00	\$10.00	\$8,820.00
		0050	0140	9109902	MISC.F&I ITS PULL BOX CLASS 1	2.00	0.00	2.00	EA	0.00	\$1,070.00	\$0.00
		0050	0150	9109902	MISC.F&I ITS PULL BOX CLASS 2	2.00	0.00	2.00	EA	1.00	\$1,800.00	\$1,800.00
		0050	0160	9109902	MISC.F&I ITS PULL BOX CLASS 5	2.00	0.00	2.00	EA	0.00	\$2,400.00	\$0.00
		0050	0170	9109902	MISC.F&I NON-INTRUSIVE VEHICLE DETECTOR POLE	5.00	0.00	5.00	EA	0.00	\$1,000.00	\$0.00
		0050	0180	9109902	MISC.F&I TYPE 1 ITS CABINET	1.00	0.00	1.00	EA	0.00	\$5,000.00	\$0.00
		0050	0190	9109902	MISC.F&I TYPE 2 ITS CABINET	1.00	0.00	1.00	EA	0.00	\$2,500.00	\$0.0
		0050	0200	9109902	MISC.F&I TYPE 5 ITS CABINET	1.00	0.00	1.00	EA	0.00	\$250.00	\$0.0
		0050	0210	9109902	MISC.F&I TYPE 7 ITS CABINET	1.00	0.00	1.00	EA	0.00	\$1,000.00	\$0.0
		0050	0220	9109902	MISC.FIBER OPTIC SPLICE ENCLOSURE	6.00	6.00	12.00	EA	8.00	\$780.00	\$6,240.0
		0050	0230	9109902	MISC.FIBER OPTIC TERMINATION	150.00	0.00	150.00	EA	36.00	\$25.00	\$900.0
		0050	0240	9109902	MISC.INSTALL IN-PAVEMENT WIRELESS SENSORS	50.00	0.00	50.00	EA	0.00	\$60.00	\$0.0
		0050	0250	9109902	MISC.INSTALL IP-ADDRESSABLE POWER STRIP	100.00	0.00	100.00	EA	5.00	\$75.00	\$375.0
		0050	0260	9109902	MISC.INSTALL NON-INTRUSIVE ACCESS POINT & ASSEMBLY	5.00	0.00	5.00	EA	0.00	\$335.00	\$0.0
		0050	0270	9109902	MISC.INSTALL NON-INTRUSIVE VEHICLE DETECTOR ASSEMBLY	10.00	0.00	10.00	EA	3.00	\$630.00	\$1,890.0
		0050	0280	9109902	MISC.INSTALL NON-INTRUSIVE WIRELESS REPEATER	5.00	0.00	5.00	EA	0.00	\$220.00	\$0.0
		0050	0290	9109902	MISC.INSTALL SALVAGED CAMERA POLE	1.00	0.00	1.00	EA	0.00	\$1,275.00	\$0.0
		0050	0300	9109902	MISC.INSTALL SALVAGED FIELD CABINET (DUAL)	1.00	0.00	1.00	EA	0.00	\$950.00	\$0.0
		0050	0310	9109902	MISC.INSTALL SALVAGED FIELD CABINET (SINGLE)	10.00	0.00	10.00	EA	2.00	\$760.00	\$1,520.0
		0050	0320	9109902	MISC.INSTALL SALVAGED NON-INTRUSIVE VEHICLE DETECTOR POLE	10.00	0.00	10.00	EA	1.00	\$1,000.00	\$1,000.0
		0050	0330	9109902	MISC.INSTALL SOLAR POWER SYSTEM	1.00	0.00	1.00	EA	0.00	\$1,000.00	\$0.0
		0050	0340	9109902	MISC.INSTALL SPREAD SPECTRUM WIRELESS COMMUNICATION EQUIPMENT	2.00	0.00	2.00	EA	0.00	\$125.00	\$0.0
		0050	0350	9109902	MISC.INSTALL UPS AUTOMATIC GENERATOR SWITCH	10.00	0.00	10.00	EA	0.00	\$100.00	\$0.0
		0050	0360	9109902	MISC.INSTALL UPS AUTOMATIC TRANSFER SWITCH	10.00	0.00	10.00	EA	0.00	\$100.00	\$0.0
		0050	0370	9109902	MISC.INSTALL UPS BATTERY	10.00	0.00	10.00	EA	4.00	\$100.00	\$400.0
		0050	0380	9109902	MISC.INSTALL UPS BATTERY MONITOR	10.00	0.00	10.00	EA	0.00	\$100.00	\$0.0
		0050	0390	9109902	MISC.INSTALL UPS POWER INVERTER	10.00	0.00	10.00	EA	0.00	\$200.00	\$0.0
		0050	0400	9109902	MISC.INSTALL UPS SYSTEM ASSEMBLY	10.00	0.00	10.00	EA	0.00	\$700.00	\$0.0
		0050	0410	9109902	MISC.INSTALL WIRELESS ETHERNET BRIDGE	2.00	0.00	2.00	EA	1.00	\$1,120.00	\$1,120.0
		0050	0420	9109902	COMMUNICATION EQUIPMENT MISC.MODOT BURIED CABLE DRIVABLE DELINEATOR POST	20.00	0.00	20.00	EA	0.00	\$100.00	\$0.0
		0050	0430		MISC.PEDESTAL BASE FOR SENSYS REPEATER POLE	1.00	0.00	1.00	EA	0.00	\$500.00	\$0.00
		0000	2.50	1.10002			0.00			0.00	50.00	φ0.00

Revision 4/1/2020 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1018-F03	J6Q3172E	0050	0450	9109902	MISC.REMOVE CAMERA POLE	1.00	0.00	1.00	EA	1.00	\$775.00	\$775.00
		0050	0460	9109902	MISC.REMOVE CCTV CAMERA & ASSEMBLY	20.00	0.00	20.00	EA	17.00	\$750.00	\$12,750.00
		0050	0470	9109902	MISC.REMOVE COMMUNICATION FIELD CABINET (DOUBLE CABINET)	1.00	0.00	1.00	EA	1.00	\$655.00	\$655.00
		0050	0480	9109902	MISC.REMOVE COMMUNICATION NODE FIELD CABINET (SINGLE CABINET)	1.00	0.00	1.00	EA	1.00	\$355.00	\$355.00
		0050	0490	9109902	MISC.REMOVE IN-PAVEMENT WIRELESS SENSORS	50.00	0.00	50.00	EA	0.00	\$10.00	\$0.00
		0050	0500	9109902	MISC.REMOVE NON-INTRUSIVE ACCESS POINT & ASSEMBLY	5.00	0.00	5.00	EA	0.00	\$120.00	\$0.00
		0050	0510	9109902	MISC.REMOVE NON-INTRUSIVE VEHICLE DETECTOR ASSEMBLY	20.00	0.00	20.00	EA	2.00	\$225.00	\$450.00
		0050	0520	9109902	MISC.REMOVE NON-INTRUSIVE VEHICLE DETECTOR POLE	10.00	0.00	10.00	EA	0.00	\$455.00	\$0.00
		0050	0530	9109902	MISC.REMOVE NON-INTRUSIVE WIRELESS REPEATER	5.00	0.00	5.00	EA	1.00	\$120.00	\$120.00
		0050	0540	9109902	MISC.REMOVE SOLAR POWER SYSTEM	1.00	0.00	1.00	EA	2.00	\$850.00	\$1,700.00
		0050	0550	9109902	MISC.REMOVE UPS AUTOMATIC GENERATOR SWITCH	10.00	0.00	10.00	EA	0.00	\$208.00	\$0.00
		0050	0560	9109902	MISC.REMOVE UPS AUTOMATIC TRANSFER SWITCH	10.00	0.00	10.00	EA	0.00	\$115.00	\$0.00
		0050	0570	9109902	MISC.REMOVE UPS BATTERY	10.00	0.00	10.00	EA	4.00	\$115.00	\$460.00
		0050	0580	9109902	MISC.REMOVE UPS BATTERY MONITOR	1.00	0.00	1.00	EA	0.00	\$115.00	\$0.00
		0050	0590	9109902	MISC.REMOVE UPS POWER INVERTER	1.00	0.00	1.00	EA	0.00	\$115.00	\$0.00
		0050	0600	9109902	MISC.REMOVE UPS SYSTEM ASSEMBLY	10.00	0.00	10.00	EA	0.00	\$125.00	\$0.00
		0050	0610	9109902	MISC.REMOVE WIRELESS COMMUNICATION EQUIPMENT	2.00	0.00	2.00	EA	1.00	\$335.00	\$335.00
		0050	0620	9109902	MISC.SENSYS REPEATER POLE BASE ALUMINUM SQUARE	1.00	0.00	1.00	EA	0.00	\$1.00	\$0.00
		0050	0630	9109902	MISC.TB1-17 ALUMINUM BASE FOR RTMS POLE	1.00	0.00	1.00	EA	0.00	\$725.00	\$0.00
		0050	0640	9109902	MISC.TB3-17 ALUMINUM BASE FOR RTMS POLE	1.00	0.00	1.00	EA	0.00	\$900.00	\$0.00
		0050	0650	9109902	MISC.TROUBLESHOOTING	50.00	50.00	100.00	EA	66.00	\$200.00	\$13,200.00
		0050	0660	9109903	MISC.CONDUIT, 2 IN., RIGID, PUSHED	250.00	0.00	250.00	LF	0.00	\$6.00	\$0.00
		0050	0670	9109903	MISC.CONDUIT, HIGH-DENSITY POLYETHYLENE, 2 IN., IN TRENCH	50.00	0.00	50.00	LF	0.00	\$10.00	\$0.00
		0050	0680	9109903	MISC.CONDUIT, HIGH-DENSITY POLYETHYLENE, 2 IN., PUSHED	300.00	0.00	300.00	LF	0.00	\$16.00	\$0.00
		0050	0690	9109903	MISC.F&I CABLE IN CONDUIT, #1/0 WIRE, VARIABLE CONDUCTORS	500.00	0.00	500.00	LF	0.00	\$3.50	\$0.00
		0050	0700	9109903	MISC.F&I CABLE IN CONDUIT, #14 WIRE, VARIABLE CONDUCTORS	250.00	3,085.00	3,335.00	LF	2,835.00	\$2.00	\$5,670.00
		0050	0710	9109903	MISC.F&I CABLE IN CONDUIT, #2 WIRE, VARIABLE CONDUCTORS	100.00	0.00	100.00	LF	0.00	\$3.25	\$0.00
		0050	0720	9109903	MISC.F&I CABLE IN CONDUIT, #2/0 WIRE, VARIABLE CONDUCTORS	100.00	0.00	100.00	LF	0.00	\$5.40	\$0.00
		0050	0730	9109903	MISC.F&I CABLE IN CONDUIT, #4 WIRE, VARIABLE CONDUITORS	100.00	0.00	100.00	LF	0.00	\$2.40	\$0.0
		0050	0740	9109903	MISC.F&I CABLE IN CONDUIT, #6 WIRE, VARIABLE CONDUCTORS	500.00	460.00	960.00	LF	772.00	\$1.85	\$1,428.20
		0050	0750	9109903	MISC.F&I CABLE IN CONDUIT, #8 WIRE, VARIABLE CONDUCTORS	1,000.00	0.00	1,000.00	LF	0.00	\$1.50	\$0.00
		0050	0760	9109903	MISC.F&I CABLE IN CONDUIT, VIDEO COAXIAL CABLE	250.00	0.00	250.00	LF	0.00	\$1.00	\$0.00
		0050	0770	9109903	MISC.F&I CABLE IN CONDUIT: CAT5E OUTDOOR RATED CABLE	500.00	2,500.00	3,000.00	LF	1,050.00	\$3.00	\$3,150.00
		0050	0780	9109903	MISC.F&I FIBER OPTIC CABLE, 24-STRAND SINGLE MODE	5,000.00	0.00	5,000.00	LF	2,692.00	\$3.00	\$8,076.0
		0050	0790	9109903	MISC.F&I FIBER OPTICE CABLE, 72-STRAND SINGLE MODE	1,000.00	4,176.00	5,176.00	LF	3,674.00	\$4.00	\$14,696.0
		0050	0800	9109903	MISC.F&I TRACE WIRE	5,000.00	0.00	5,000.00	LF	5,125.00	\$1.75	\$8,968.7
		0051	0810	9109902	MISC.PM AIR CONDITIONING UNITS FOR NODE CABINETS	64.00	0.00	64.00	EA	30.00	\$250.00	\$7,500.0
		0051	0820	9109902	MISC.PM CCTV CAMERA, ASSEMBLY, POLE, & FIELD CABINET	637.00	0.00	637.00	EA	567.00	\$420.00	\$238,140.0
		0051	0830	9109902	MISC.PM COMMUNICATION LINK AND ASSEMBLY	321.00	0.00	321.00	EA	294.00	\$140.00	\$41,160.00
		0051	0840	9109902	MISC.PM COMMUNICATION NODE FIELD CABINET	35.00	0.00	35.00	EA	35.00	\$520.00	\$18,200.0
		0051	0850	9109902	MISC.PM DMP, ASSEMBLY, POLES, FOUNDATION, AND	2.00	0.00	2.00	EA	0.00	\$330.00	\$0.00
		0051	0860	9109902	CABINET MISC.PM DMS, ASSEMBLY, POLE, FOUNDATION & FIELD	168.00	0.00	168.00	EA	159.00	\$440.00	\$69,960.00

Revision 4/1/2020 Page 6 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
)18-F03	J6Q3172E	0051	0870	9109902	MISC.PM NON-INTRUSIVE VEHICLE DETECTOR STATIONS (BLUETOOTH)	14.00	0.00	14.00	EA	14.00	\$200.00	\$2,800.00
		0051	0880	9109902	MISC.PM NON-INTRUSIVE VEHICLE DETECTOR STATIONS (MICROWAVE)	313.00	0.00	313.00	EA	306.00	\$305.00	\$93,330.00
		0051	0890	9109902	MISC.PM SOLAR POWER SYSTEM	20.00	0.00	20.00	EA	18.00	\$210.00	\$3,780.00
		0051	0900	9109902	MISC.PM UNINTERRUPTIBLE POWER SUPPLY (UPS) FOR NODE CABINETS	32.00	0.00	32.00	EA	31.00	\$200.00	\$6,200.00
		0051	0910	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV	1.00	0.00	1.00	EA	1.00	\$520.00	\$520.00
		0051	0920	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV CABLES AND WIRES	1.00	0.00	1.00	EA	0.00	\$610.00	\$0.00
		0051	0930	9109902	$\ensuremath{MISC.PM}$ WITH REPAIRS - MODOT APPROVED CCTV CAMERA, ASSEMBLY, POLE, & FIELD CABINET	1.00	0.00	1.00	EA	0.00	\$520.00	\$0.00
		0051	0940	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV CONNECTORS	1.00	0.00	1.00	EA	0.00	\$520.00	\$0.00
		0051	0950	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV DEVICE SERVER	1.00	0.00	1.00	EA	0.00	\$520.00	\$0.00
		0051	0960	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV ENCODER	1.00	0.00	1.00	EA	0.00	\$520.00	\$0.00
		0051	0970	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV POLE ACCESS PANEL	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0051	0980	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV POWER SUPPLY	1.00	0.00	1.00	EA	0.00	\$540.00	\$0.00
		0051	0990	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED CCTV SURGE PROTECTOR	1.00	0.00	1.00	EA	0.00	\$610.00	\$0.00
		0051	1000	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMP, ASSEMBLY, POLE, FOUNDATION, & FIELD CABINET	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1010	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMS CONTROLLER	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1020	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMS DRIVER BOARD	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1030	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMS FAN	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1040	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMS LCA	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1050	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMS PIXEL BOARD	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1060	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED DMS POWER SUPPLY	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1070	9109902	MISC.PM WITH REPAIRS - MODOT APPROVED IP ADDRESSABLE POWER STRIP	1.00	0.00	1.00	EA	0.00	\$650.00	\$0.00
		0051	1080	9109902	MISC.PM WITH REPAIRS - MODOT SOLAR POWER SYSTEM	1.00	0.00	1.00	EA	1.00	\$650.00	\$650.00
		0051	1090	9109902	MISC.REMOVE & REPLACE NETWORK RADIO SOLAR PANEL BATTERIES	11.00	0.00	11.00	EA	0.00	\$110.00	\$0.00
		0051	1100	9109902	MISC.REMOVE AND REPLACE NODE CABINET AIR CONDITIONER SYSTEM	6.00	0.00	6.00	EA	4.00	\$9,500.00	\$38,000.00
		0051	1110	9109902	MISC.SIGNAL CABINET NETWORK COMMUNICATION & DEVICE VERIFICATION	18.00	0.00	18.00	EA	2.00	\$100.00	\$200.00
		0050	5001	9019901	MISC.Sensys System	0.00	1.00	1.00	LS	1.00	\$9,799.20	\$9,799.20
		0050	5002	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 01	0.00	1.00	1.00	LS	0.00	\$110.25	\$0.00
		0050	5003	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 02	0.00	1.00	1.00	LS	0.00	\$445.20	\$0.00
		0050	5004	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 03	0.00	1.00	1.00	LS	0.00	\$110.25	\$0.00
		0050	5005	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 04	0.00	1.00	1.00	LS	0.00	\$266.70	\$0.00
		0050	5006	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 11	0.00	1.00	1.00	LS	0.00	\$1,065.75	\$0.00
		0050	5007	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 13	0.00	1.00	1.00	LS	0.00	\$110.25	\$0.0
		0050	5008	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 15	0.00	1.00	1.00	LS	0.00	\$445.20	\$0.0
		0050	5009	9019901	MISC.Misc. ITS Air Conditioner Repair at Node 23	0.00	1.00	1.00	LS	0.00	\$110.25	\$0.0
		0050	5010	9019901	MISC.Misc. ITS, Base Concrete	0.00	1.00	1.00	LS	0.00	\$432.00	\$0.00
	Project J60	Q3172E - To	otal Value	Posted to	Date as of Report Generated Date							\$765,612.45
)18-F03 Ove	rall - Total V	alue Poste	d to Date	as of Repo	rt Generated Date							\$765,612.4

Revision 4/1/2020 Page 7 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6Q3172E

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	9103700	CCTV CAMERA ASSEMBLY, INSTALLED	8/6/20	8/10/20	1.00	EA	MOMS ticket 6219					MOMS ticket 6219 (ISO44E264.7) was replaced with AXIS camera S/N ACCC8EEF6B41 ANNA OTTO was the person checking for Dan to make sure that the new camera was working.
0100	9109902	MISC. ITS	8/4/20	8/5/20	3.00	EA	MOMS 6227					MOMS 6227 Investigate and repair DME IS070W237.3 found 2 broken fiber repaired and checked with SLITSto confirm they could talk to this DMS inspector Note MOMS 6227 Investigate and repair DME IS070W237.3
			8/6/20	8/10/20	2.00	EA	MOMS ticket 6219					found 2 broken fiber blue tube repaired and checked with SLITSto confirm they could talk to this DMS MOMS ticket 6219 (ISO44E264.7) was replaced with AXIS camera S/N ACCC8EEF6B41 ANNA OTTO was the
			8/11/20	8/12/20	1.00	EA	Per MOMS 5906					person checking for Dan to make sure that the new camera was working. -Remove Millbank for knockdown/removed detector site at
				8/12/20	2.00	EA	MOMS WO 6099					70 E/O Salisbury - Per MOMS 5906 - Not Complete, Millbank still energized -Investigate and repair fiber issue between 70 EB and WB Ramp signals - Per MOMS WO 6099 - Complete - Fiber is
0120	9109902	MISC. ITS	8/4/20	8/5/20	2.00	EA	MOMS 6227					repaired, still having switch issues as of 8-11-20 MOMS 6227 investigate and repair DME IS070W237.3 found 2 broken fiber repaired and checked with SLITSio Isspector Note talk to this DMS Isspector Note MOMS 6227 investigate and repair DME IS070W237.3 found 2 broken fiber repaired and checked with SLITSio confirm they could talk to this DMS
0410	9109902	MISC. ITS	8/14/20	8/17/20	1.00	EA	MOMS WO 6250					Commin mey doubt data to this DMS -Move 10.6.105.17 radio from knockdown site to 60° pole near US81/67. Replace 105.19 radio with 105.17 radio and aimiprogram. Remove and dispose of damaged knockdown pole, cabinet, batteries and solar panels Per MOMS WO 6250 - Radios would not communicate in new locations.
0450	9109902	MISC. ITS	8/14/20	8/17/20	1.00	EA	MOMS WO 6250					-Move 10.6.105.17 radio from knockdown site to 60' pole near US61/67. Replace 105.19 radio with 105.17 radio and aim/program. Remove and dispose of 0.4m radio knockdown pole, cabinet, batteries and solar panels Per MOMS WO 6250 - Radios would not communicate in new locations.
0460	9109902	MISC. ITS	8/6/20	8/10/20	1.00	EA	MOMS ticket 6219					MOMS ticket 6219 (ISO44E264.7) was replaced with AXIS camera S/N ACCC8EEF6B41 ANNA OTTO was the person checking for Dan to make sure that the new camera was working.
0530	9109902	MISC. ITS	8/14/20	8/17/20	1.00	EA	MOMS WO 6250					-Move 10.6.105.17 radio from knockdown site to 60' pole near US61/67. Replace 105.19 radio with 105.17 radio and aim/program. Remove and dispose of damaged knockdown pole, cabinet, batteries and solar panels Per MOMS WO 6250 - Radios would not communicate in new locations.
0540	9109902	MISC. ITS	8/14/20	8/17/20	1.00	EA	MOMS WO 6250					-Move 10.6.105.17 radio from knockdown site to 60' pole near US61/87. Replace 105.19 radio with 105.17 radio and aim/program. Remove and dispose of damaged knockdown pole, cabinet, batteries and solar panels Per MOMS WO 6250 - Radios would not communicate in new locations.
0610	9109902	MISC. ITS	8/14/20	8/17/20	1.00	EA	MOMS WO 6250					-Move 10.6.105.17 radio from knockdown site to 60' pole near US6167. Replace 105.19 radio with 105.17 radio and aim/program. Remove and dispose of damaged knockdown pole, cabinet, batteries and solar panelsPer MOMS WO 6250 - Radios would not communicate in new locations.
0650	9109902	MISC. ITS	8/4/20	8/5/20	1.00	EA	MOMS 6204					Work Order 6204 was done on 8/3 we pull in 1100' of tracer wire but i did not turn in a quantity for Troubleshooting Inspector Note Work Order 6204 was done on 8/3 we pull in 1100' but i did not turn in a quantity for Troubleshooting
				8/5/20	1.00	EA	MOMS 6227					MOMS 6227Investigate and repair DME IS070W237.3 found 2 broken fiber repaired and checked with SLITSto confirm they could talk to this DMS Inspector Note MOMS 6227Investigate and repair DME IS070W237.3 found 2 broken fiber repaired and checked with SLITSto confirm they could talk to this DMS
			8/6/20	8/10/20	1.00	EA	MOMS ticket 6219					MOMS ticket 6219 (ISO44E264.7) was replaced with AXIS camera S/N ACCC8EEF6B41 ANNA OTTO was the person checking for Dan to make sure that the new camera was working.
			8/13/20	8/17/20	1.00	EA	MOMS WO 6319					-Troubleshoot and repair AC issues at Aux Node in Union at 47/50 Per MOMS WO 6319 - Complete
0800	9109903	MISC. ITS	8/3/20	8/5/20	1,100.00	LF	work order 6204					per work order 6204 we pulled in 1100' of tracer wire at 270 and 367 on the south bound ramp of 270 and 367
0820	9109902	MISC. ITS	8/7/20	8/10/20	6.00	EA	MO141N002.4 S/N 0009E2005A82 V 1.40.5641 MO141N017.5 N 0009E2004B8 V 41.92 MO141S001.5 S/N 0009F2004B6C V 41.92 MO141S001.2 S/N 0009F2004B8 V 41.92 MO141S001.2 S/N 0009F2003B9 V 41.92 MO141S001.2 S/N 0009F20034B8 V 32.91					Today we PMed along route 141 MO141N002.4 SN 0.00952.005.82 V 1.40.5641 MO141N004.5 N 0.00952.005.82 V 1.40.5641 MO141S00.5 SN 0.00952.00486 V 4.1.92 MO141S001.2 SN 0.00952.00486 V 4.1.92 MO141S001.7 SN 0.00952.00389 V 4.1.92 MO141S002.1 SN 0.00952.00348 V 32.91
			8/10/20		6.00		RT0ABE003.0 RT AB at Coeur De Ville RT0ACN006:1 RT AC at Pershall RT0JJN000.0 RT J (Ballas) at I-64 WB Ramp MO340W016.6 MO 340 at McKnight-Woodson IS270E033.1 I-270 at Belleforhaine EB Ramp IS270N017.9 Dorsett at Progress Pkwy					RT0ABE003.0 RT AB at Coeur De Ville RT0ACN006:1 RT AC at Pershail RT0JJN000.0 RT JJ (Ballas) at I-64 WB Ramp MO340W016.6 MO 340 at McKnight-Woodson IS270E033.1 I-270 at Belleforhaine EB Ramp IS270N017.9 Dorsett at Progress Pkwy
			8/11/20	8/12/20	8.00	EA	ISO44E280.9a C-60" (CA252C - 75) (1) V1 62 I -44 at Elm Ave ISO44E280.9b lower on 60' pole (1) V1 62 I -44 at Elm Ave ISO44E280.9c Joannes -50" (16 I -44 at Shrewsbury Ave ISO44E284.3 Camera - 50" (1) V1.62 I -44 at Jamieson Ave ISO44E284.3 Camera - 50" (1) V1.62 I -44 at Jamieson Ave ISO44E280.4 V21 I -44(55.9g 30-12th ISO44W285.9 Camera - 60" * (1) V1.16 I -44 at Hampton Ave. ISO44W287.1 Camera - 60" I -44 at Kingshighway ISO44W278.7 Camera - 50" * (1) V1.62 I -44 at Big Bend Rd					ISO44E280.9a C-60" (CA252C - 75) (1) v1.62 I-44 at Elm Ave ISO44E280.9b lower on 60" pole (1) v1.62 I-44 at Elm Ave ISO44E280.9b lower on 60" pole (1) v1.62 I-44 at IEm Ave ISO44E284.3 Camera - 50" (1) v1.62 I-44 at Jamieson Ave ISO44E294.3 Camera - 50" (1) v1.62 I-44 at Jamieson Ave ISO44E296.4 v2.1 I-44.65 go 30-12th ISO44W285.9 Camera - 60" * (1) v1.16 I-44 at Hampton Ave ISO44W287.1 Camera - 60" * (4) v1.62 I-44 at Big Bend Rd
			8/12/20	8/13/20	4.00	EA	ISO44W291.9 depressed lanes v1.85 Memorial Dr at Chestnut Ave ISO44W291.9 depressed lanes v1.85 Memorial Dr at Chestnut Ave ISO44W291.0 Camera - 30'* (1) v1.62 I-44 at I-55 NWQ ISO44W291.8 Camera - 40' Memorial at Walnut (Old Cathedral)					ISO44W291.9 depressed lanes v1.85 Memorial Dr at Chestnut Ave ISO44W291.9 depressed lanes v1.85 Memorial Dr at Chestnut Ave ISO44W291.0 Camera - 30' * (1) v1.62 I-44 at I-55 NWQ ISO44W291.8 Camera - 40' Memorial at Walnut (Old Cathedral)

Revision 4/1/2020 Page 8 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0830	9109902	MISC. ITS	8/3/20	8/5/20		EA	RTODDW001 48 RTODDW001 4 RTODUS000 7 RTODUS000 7 RTODUS000 7 RTODUS001 0 ISO70E241.7 ISZ70S016.6 M0094E11.2 M0094W111.6 M0094E112.2 M0094W111.6 RTODUS001.9					RTODDW001.48 RTODDW001.4 RTODDW001.4 RTODUS00.7 RTODUS00.7 RTODUS00.7 RTODUS001.0 ISO70E241.7 ISZ70S016.6 M0094E11.2 M0094H11.2 M0094H11.2 M0094W111.6 RTODDW01.9
			8/4/20	8/5/20	16.00	EA	RTDACS308.1 RTDACS304.9 RTDACS304.9 RTDACS304.8 RTDACS303.9 RTDACS303.9 RTDACS302.9 RTDACN007.6 RTDACN007.6 RTDACN006.9 RTDACN006.9 RTDACN006.5 RTDACN006.5 RTDACN006.5 RTDACN006.5 RTDACN006.1 RTDACN006.1 RTDACN006.7					RTDACS008 1 RTDACS004 9 RTDACS004 9 RTDACS004 8 RTDACS003 8 RTDACS003 9 RTDACS002 9 RTDACN007 6 RTDACN007 6 RTDACN006 9 RTDACN006 9 RTDACN006 9 RTDACN006 1 RTDACN006 1 RTDACN006 1 RTDACN006 1 RTDACN006 1 RTDACN006 7 RTDACN003 3
			8/5/20	8/6/20	12.00	EA	ISO70E246 8 RTODHNIO3.5 RTODHNIO3.5 RTODHNIO3.7 RTODHNIO3.7 RTODHNIO3.7 RTODHNIO3.4 RTODHNIO3.6 RTODHNIO5.6 RTODHNIO5.6 RTODHNIO5.6 RTODHNIO5.6 RTODHNIO5.7					ISO70E246.9 RTOOHN03.6 RTOOHN03.7 RTOOHN03.7 RTOOHN03.7 RTOOHN05.4 RTOOHN05.0 RTOOHN05.6 RTOOHN05.6 RTOOHN05.6 RTOOHN05.6 RTOOHN05.7
0840	9109902	MISC. ITS	8/10/20	8/12/20	2.00	EA	N011 IS270N022.9 I-270 e/o MO 370 Type 1 & 2 Node 0 TMC Node TMC Type 2					N011 IS270N022.9 I-270 e/o MO 370 Type 1 & 2 Node 0 TMC Node TMC Type 2
			8/11/20	8/12/20	1.00	EA	N006 IS170N000.6 I-170 @ Galleria NEQ Type 1 & 2					N006 IS170N000.6 I-170 @ Galleria NEQ Type 1 & 2
0890	9109902	MISC. ITS	8/6/20	8/10/20	3.00	EA	The 1 site was RT00MW07.0 and site was a knock down and MoDOT was working on this site was a knock down and MoDOT was working on this site as we could not do the PM as they sad they were ting to realine the other solar panel unit to by pass the knock down unit. the 3rd site US0F3004.5 is not a solar site but a CCTV site and is run by power.					The 1 site was RT00MW07.0 2nd site was RT00MW073 is his site was a knock down and MoD0T was working on this site as we could not do the PM as they said they were timg to realine the other solar panel unit to by pass the knock down unit. the 3rd site US0875004.5 is not a solar site but a CCTV site and is run by power.
0900	9109902	MISC. ITS	8/10/20	8/12/20	1.00	EA	N011 10.6.100.2 IS270N022.9 I-270 e/o MO 370 Alpha UPS					N011 10.6.100.2 IS270N022.9 I-270 e/o MO 370 Alpha UPS
			8/11/20	8/12/20	1.00	EA	N006 10.6.115.70 IS170N000.6 I-170 @ Galleria NEQ Alpha UPS					N006 10.6.115.70 IS170N000.6 I-170 @ Galleria NEQ Alpha UPS

The information below this line are details from Line Item agency views.

No Agency View Details Exist

Revision 4/1/2020 Page 9 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
	·	Туре	Adjustment Type	Number	Date	Ву		
0040	CONDUIT, 2 IN., RIGID, IN TRENCH	Material		4	Mar 2, 2020	SYSTEM	(\$60.00)	
				5	Mar 16, 2020	SYSTEM	(\$60.00)	
				6	Apr 3, 2020	SYSTEM	(\$60.00)	
		- Total				(\$180.00)		
	Material - Total						(\$180.00)	
	CONDUIT, 2 IN., RIGID, IN TRENCH	MaterialCredit		5	Mar 16, 2020	SYSTEM	\$60.00	
				6	Apr 3, 2020	SYSTEM	\$60.00	
				7	Apr 16, 2020	SYSTEM	\$60.00	
			- Total				\$180.00	
	MaterialCredit - Total					\$180.00		
0040 -	Total						\$0.00	
0100	MISC. ADVANCED DIAGNOSTICS	Overrun	Overrun	4	Mar 2, 2020	SYSTEM	(\$6,020.00)	
				5	Mar 16, 2020	SYSTEM	\$6,020.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',430.00000 - 430.00000, 'is applied (if non-zero).
				13	Jul 16, 2020	SYSTEM	(\$430.00)	
				14	Aug 3, 2020	SYSTEM	\$430.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',430.00000 - 430.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0100 -	Total						\$0.00	
0220	MISC. FIBER OPTIC SPLICE ENCLOSURE	Overrun	Overrun	9	May 18, 2020	SYSTEM	(\$1,560.00)	
				14	Aug 3, 2020	SYSTEM	\$1,560.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',780.00000 - 780.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0220 -	Total						\$0.00	
0540	MISC. REMOVE SOLAR POWER SYSTEM	Overrun	Overrun	15	Aug 17, 2020	SYSTEM	(\$850.00)	
			Overrun - To	otal			(\$850.00)	
	Overrun - Total						(\$850.00)	
0540 -	Total						(\$850.00)	
0650	MISC. TROUBLESHOOTING	Overrun	Overrun	13	Jul 16, 2020	SYSTEM	(\$800.00)	
				14	Aug 3, 2020	SYSTEM	\$800.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',200.00000 - 200.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0650 -	Total						\$0.00	
0700	MISC. F&I CABLE IN CONDUIT, #14 WIRE, VARIABLE CONDUCTORS	Overrun	Overrun	12	Jul 1, 2020	SYSTEM	(\$5,170.00)	
	CONDUCTORS			14	Aug 3, 2020	SYSTEM	\$5,170.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.00000 - 2.00000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0700 -	Total						\$0.00	
0740	MISC. F&I CABLE IN CONDUIT, #6 WIRE, VARIABLE	Overrun	Overrun	3	Feb 18, 2020	SYSTEM	(\$481.00)	

Revision 4/1/2020 Page 10 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
		Type	Type	Number	Date	Бу		
0740	CONDUCTORS	Overrun	Overrun	5	Mar 16, 2020	SYSTEM	\$481.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',1.85000 - 1.85000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0740 -	Total						\$0.00	
0770	MISC. F&I CABLE IN CONDUIT: CAT5E OUTDOOR RATED	Overrun	Overrun	5	Mar 16, 2020	SYSTEM	(\$720.00)	
	CABLE			6	Apr 3, 2020	SYSTEM	\$720.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',3.00000 - 3.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0770 -	Total						\$0.00	
0790	MISC. F&I FIBER OPTICE CABLE, 72-STRAND SINGLE MODE	Overrun	Overrun	2	Feb 3, 2020	SYSTEM	(\$504.00)	
				5	Mar 16, 2020	SYSTEM	\$504.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.00000 - 4.00000, 'is applied (if non-zero).
				12	Jul 1, 2020	SYSTEM	(\$3,192.00)	
				13	Jul 16, 2020	SYSTEM	(\$4,200.00)	
				14	Aug 3, 2020	SYSTEM	\$7,392.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.00000 - 4.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0790 -	Total						\$0.00	
0800	MISC. F&I TRACE WIRE	Overrun	Overrun	15	Aug 17, 2020	SYSTEM	(\$218.75)	
			Overrun - T	otal			(\$218.75)	
	Overrun - Total						(\$218.75)	
0800 -	Total						(\$218.75)	
0870	MISC. PM NON-INTRUSIVE VEHICLE DETECTOR	Overrun	Overrun	13	Jul 16, 2020	SYSTEM	(\$400.00)	
	STATIONS (BLUETOOTH)			14	Aug 3, 2020	SYSTEM	\$400.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',200.00000 - 200.00000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0870 -	Total						\$0.00	
Overa	II - Total						(\$1,068.75)	

Revision 4/1/2020 Page 11 of 11